MA123 — Elem. Calculus Fall 2014 N.ame: E‘i E-\T}

Exam 2 2014-03-13 Sec.:

Do not remove this answer page — you will turn in the entire exam. You have two hours to do this exam.
No books or notes may be used. You may use a graphing calculator during the exam, but NO calculator
with a Computer Algebra System {CAS) or a QWERTY keyboard is permitted. Absolutely no cell phone
use during the exam is allowed.

The exam consists of multiple choice questions. Record your answers on this page. For each multiple
choice question, you will need to fill in the box corresponding to the correct answer. For example, if (a) is

correct, yvou must write
® @ @

Do not circle answers on this page, but please circle the letter of each correct response in the body of the
exam. It is your responsibility to make it CLEAR which response has been chosen. You will not get credit
unless the correct answer has been marked on both this page and in the body of the exam.

GOOD LUCK!
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For grading use:

Number Total
Correct

| (out of 20 problems) | (out of 100 points)
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Please make sure to list the correct section number on the front page of your exam.

In case you forgot vour section number, consult the following table.
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011 Stephen Sturgeon | Tu 12:30 pm | CP 111
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016 Jiaqi Liu Th 12:30 pm | CB 201
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Multiple Choice Questions
Show all your work on the page where the question appears.
Clearly mark your answer both on the cover page on this exam
and in the corresponding questions that follow.

1. The graph of y = f(z) is shown below. The function is differentiable, except at:
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4. For the function f(z) = 2%+ z* + 4z + 3, find the equation of the tangent line to graph of f at
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5. Find the derivative, f'(z), if f(r) = v52* + 3z + 1.
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. (A= (5743 ¢
(1/2)(52° + 32 + 1)7Y2(152” + 3) ( X ebred] )
3 ; 2 R : b e ’ Z‘;-Q— -

(b) (1/2)(52° + 3z + 1)(152” + 3) Ty = s (525 %0) (155743)
(¢) (1/2)(5x% + 3a + 1)1/2 :
(@) 1522 43 .2, %iih m\j S

\I5$3+3$+1 fd s G i ; - h
(e) vIBa® 3 P g0 x Tt s SR

6. Find the derivative, f'(x), if f(z) = %" 172,
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7. Find the derivative, f'(x), if f(z) = (6 + 9z)e**%=.
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8. Find the derivative, f'(x), if f(z) = In(8z% + 9z — 1).

Possibilities: £ = :J_M_,, Alux )
1 : By b Tant
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9. Find the derivative, f'(z), if f(z) = (2 + 4z) In(4 + 9z).

Possibilities: 4
9 TRV Gl (4 (23%) = = b (5,503 4 EL*%»
ha AT ) oy L) = B, (845 ) ¢ Tt
(=) 4+4+9$ i{ Hl *) e 9x Ha i) ¢ e g
18 + 36z _ '
2\; (4) 111(4 + 9.’11) + m ‘"']\‘ii,‘ gé(«;} \b’;{'ﬁ"‘) e ?}“E ifr‘i\i‘ﬂ

{

P

/m

c)
d)
(e)

’\2’\.”~' . f %
N R L N

P

4+9;C
13
4+ 9z

10. For the function f(z) = In(5z* + 6z + 9) find the equation of the tangent line to graph of f at
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11. Suppose F(z) = In(g(x)). I g( )= 3,9 (2) =5, and ¢”(2) = 7, then find F'(2).
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12, Suppose F{z) = g(z) - h{z +2). If g(0) =5, ¢(0) = 4, h(0) = 9, W'(0) = 6, h(2) = 3, and K'{2) = §,
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13. Suppose F(z) = (g{z))"® +3. I g(2) =7, ¢'(2) = 5, and ¢"(2) = 9, then find F'(2).
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14. If f(z) = 22% + 2* — z then find the second derivative f(z):
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15.

If f(z) = (152 + 31)% then choose the form of f”(z):
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16.

If an amount of = dollars is invested at 2% interest compounded continuously, and at the end of 5
years the value of the investment is $3000, find z.
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17.

The number of a bacteria in a culture doubles every 11 hours. How many hours will it take hefore 3
times the original number of bacteria is present?
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18. The graph of ¥ = f(x) is shown below. The taximum value of f(x) on the interval [—5, 3] occurs at
which z7
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19. Find the maximum of g(t) = (¢ — 3)* + 4 on the interval [0, 5]
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20. Find the minimum of g(t) = 23 +3t2 — 12¢t + 1 on the interval [1, 3]
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